AP R RENFET 5 (RI5) B 5 B #

S742R22H8 (LFER)
Bz ENSEHA %K 1997 b+

(% L EBEREET)
ey _ HFE R ke) 1% #YFE taxtER|
a—Fk A R A8 #YFE | AxEE | sk | SEE) | omm) BiEm) | sEm) | wEe)
130100(/=W 2 A biToesY 21,945
130100|7=\W 2 A 1= 300 300 10 1,620 1,188
130100(/=W 2 A ey = 7,600 7,600 10 1,674 972
1301007\ A RI%G 1,815 1,815 12 1,620 1,404
13034003 ICA LA biToesY 11,280
130340[%ICA CA RI%G 7,000 7,000 10 3,370 1,674
13034003 ICA LA FEFN 1,000 1,000 10 3,132 2,700
130340[%ICA CA BRS 2,190 2,190 10 3,294 2,106
130400[Z1E 5 biToesY 872
130400| 1% 5 55 860 0 860 10 5,940 2,376
130600({ A Z A biToesY 1,658
130600| A T A = 1,490 0 1,470 5 4,104 756
131100183 biToesY 32,385
131100({A 3% B3 8,040 0 6,350 15 5,076 2,700
131100|83% R 1,395 0 795 15 4,536 4,104
131100|8 3% K& 3,900 0 3,900 13 2,808
131100|83% RIG 8,700 0 8,100 15 3,942 2,268
131700(F v X/ be 36,505
131700(F v XV ZH 18,920 0 12,000 10 3,456 2,376
131700(F v X/ k& 10,440 0 10,440 10 2,754 702
131700(F v XV ML 1,500 0 1,300 10 2,592
131800(|1Z S NAE be 3,120
131800{IF > NAE BE 252 252 0 0.2 149
131800(|1Z S NAE 1= 2,588 0 2,574 4.5 3,510 2,835




131910(Fh & et 1,282

131910(F R & KR 22 0 22| 0.045 63 62
131910(Fh & FE 172 0 170 0.5 324 302
131910(F R & B[] 380 0 380 1 1,728 1,080
131910(Fh & ) 679 0 679 5 5,400 1,296
131910(F R & TiE 30 0 30 0.5 324

131950(H & et 7,423

131950(A R & HE 710 0 590 5 4,860 540
131950(H & BSE 1,200 0 797 3 2,376 1,080
131950|H A & TiE 162 0 162 3 1,836 1,512
131950|B A& BES 1,191 0 1,191 3 2,106 1,512
133400(L % % e 13,737

133400(L % 2 I, 3,915 0 3,335 10 3,240 1,728
133400(L % % & 4,400 0 4,400 10 3,996 2,916
133400(L % 2 ES 2,460 0 2,460| 10 3,780 2,592
133400(L % % F=1iA 772 0 404 4 1,782 1,512
133400(L % 2 Rig 2,190 0 900| 10 1,944 1,566
134100|#A/1 e 11,185

134100 |#8/1 ES 2,925 0 2,925 5 2,268 1,566
134100 (&A1 A 1,350 0 1,100 5 2,376 1,782
134100 |88/ =l 6,460 0 5,660 5 2,538 1,728
134100|#A/1 BRS 200 0 200 5 1,890 1,836
134200|m M et 3,330

134200|FE M —a—-Y—-5v Kk 3,130 0 1,730 10 2,916 2,052
134200 (7 I X¥ O 200 0 200f 10 2,484
134300(#6F e 4,309

134300 (%6 F S 440 0 440 2 1,080 648
134300|# 7 = 2,322 0 1,908 0.3 108

134400| k< k et 6,645

134400| k= b+ FLE 1,421 0 1,421 1 356 270




134400 b~ b R 2,403 2,403 1,620 1,404
134400| k< b REAR 2,654 2,654 1,944 1,080
134500 "=~ ~ ¥ 4,505

134500 &' —~ >~ = 1,575 1,305 0.15 130 108
134500 "=~ ~ =y e 2,765 2,492 0.13 139 119
135100| W A LT A ¥ 90

135100 WA F A =N 66 66 2 4,320 3,240
135200|%= ¥ 90

135200|%= FNEL 90 84 2 3,564 1,620
136100(AA L & ¥ 10,480

1361001 A L & T 1,380 1,380 5 1,998 626
136100(AA L & h¥= 3,400 3,245 5 1,836 540
1361001 A L & Ry 5,700 5,700 5 1,944 1,188
136210( X —7 1 ~ ¥ 200

136210| X —27 4 >~ Jtime 200 200 10 3,780
136300|2F ¥ 3,410

136300|8F EiE 3,160 3,160 10 5,940 3,240
136600|7z & ¥ 20,455

136600|7- & Jtime 5,390 5,390 20 2,916
136600|7z & 5B 3,745 3,745 10 3,240 2,322
138100|& L Wiz lF ¥ 1,580

138100(& L W /o lF i 1L 120 120( 0.08 73
138100|& L Wiz lF wE 1,217 1,205 0.2 270 97
138500|L & LE ¥ 3,225

138500| L& LE K% 3,208 2,667 0.2 102 81




mAEMm R REFEHS (KRS BEBHR
SF7428228 (+mH)

LSS ENSEfashE: 296 b

(B ILHEREST)
BE ox e MR (k) 1% #YFE RS E]
a—F AH Y5 | EREE] | Biike) | &EM) | S{EFM) | REFE) | SEFA) | $EE) | R{EM)
240700 @EINAN A |HEL 10,698
240700|Z@EIMNA N A | FFRWL 9,025 0 9,025 10 5,400 1,944
240700 @EM AN A | EE 1,673 0 1,673 10 4,860 2,484
241300\ F 1 HE 924
241300\ F 1 iR 924 0 636 9 2,970
241320|/\#A HE 300
241320(/\#A ML 300 0 300 10 3,664
241390[IF A D A e 3,310
241390|IF A B A iR 3,310 0 7401 10 2,700 2,484
241470 = A DA HE 191
241470| & A D A =y 180 0 150 3 3,780 3,240
241481|F aR v Hh A |HH 2,945
241481|F aR > Hh A | FFL 1,480 0 1,480 5 3,456 2,700
241481|FaR v AhA | B 1,465 0 1,465 5 3,024 1,620
242320|¥ 33— L K | 950
242320|Y 3+ 3—L K | BH 950 0 950/ 10 4,536
242830|3 LW AT e 3,820
242830|5 LW AT & 3,820 0 3,320 10 7,020 3,780
242850| E#k Y A Z e 660
242850|EM Y A Z Ei 660 0 630| 10 5,940 3,456
246000|L\B & [y 5,516
24600016 & FLE 358 102 256 0.25 540 324 540 410
246000|L\B & &I 336 0 286 0.3 648 540
246000 LB & g 1,183 0 1,153| 0.25 616 432




246000 1,811 0 1,761 540 302
246000 1,405 0 878 486 324
246000 385 198 432 356
247100| 77— Ax XA >

247100|7 —/LR 41O > 329 329 17,280 9,720




